Mustang Race:

1. Write the following in exponential form:

(@) logzx =9 (d) logyx =3
(b) log, 8 =x (e) log,y =5
(c) logs 27 =x (f) logsy =2

2. Write the following in logarithm form:

@ y =3 (@) y=3°
(b) 27 = 3X (9) 32 = X5
(C) m= 42 (f) 64 = 4X

3. Solve the following:

(a) logg x = 4 (d) 1og2§ =5
(b) logm 81 =4 (e) loggy =5
(c) logy 1000 = 3 (f) logy 4x =5

4. Solve the following for x:

(@ Inx =27 (c) 6.27 =X

(b) In(x +1)=1.86 (d) 412 = e 2X
5. Evaluate

(@) log101000 (d) log, 7

((:)) I(I)(;g4217 (e) |oga aX

3

6. Solve for x

(a) logg x =2 (c) logy 64 = x

(b) log1p(2x +1) =2 (d) logp 81 = 4



ANSWERS:
1. (@) 3°=x

(b) 2* =8
() 3% =27
(d) 4% = x
€) 2°=y
(f) 5=y

. (a) logzy =4
(b) log; 27 = x
(c) logy,m =2
(d)logsy =5
(e) log,32 =5
(f) log, 64 =x

. (8 x =81

(b)y m=3
() x=10
(d) x =64
() y =243
Hx=8

4. () x = 14.880

(b) x =5.424
(c) x =1.836
(d) x = —-.708
. (@ 3
(b) 0
(c) 3
(d) -2
(e) x
. (@x =16
(b) x = 49.5
c)x=6
(db=3



